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General Instructions :

(i) Answers to questions carrying 1 mark may be from one word to one sentence.
(i1) Answers to questions carrying 3 marks may be from 50 - 75 words.

(iit) Answers to questions carrying 4 - 5§ marks may be about 150 words.

(iv) Answers to questions carrying 6 marks may be about 200 words.

(v) Attempt all parts of a question together.
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1. Todia gory & 3§ 98] &1 AW Jadd gU Seer@ It ST I8 &1 H7E qon ey’ 1
THT 1 STETIRAIST HT AE STTAH A H Hherdl J&M 3l © |

Name and state the aspect of financial management that enables to foresee

the fund requirements both in terms of ‘the quantum’ and ‘the timings’.

2. TauoE & 39 & =1 91 FdET S ARG 9IS &l AN U9 WH Ao 9 1
et ¥

Name the function of marketing which is concerned with the cost and location
of target market.

3. AT 7 THh WM THMASR § Th TG oS hl TR kT Th o] @ler| o 1
Sl Gle T 38 TR H Teh Yok k1 Zohel Toetl |39 s9eh! Rihad gerteR |
&l 9 39! a1 gfaa S o 09 99 5 T 99 & fid
FHOET 1 FiAFf ST % WY gAT % SR g1 3R 3Y 3WF 95 § U A4
TR 1 Yone e @i & SHent sTgfaen iR afqyfd & faw 38 = fafws gar
% TR o feu

e 1 59 Iuvie if¥eRR o1 9N fohan 3Heh1 Soar@ it |

Suman bought a box of cheese of a reputed brand from a local shopkeeper. On

opening the box she found a piece of stone in the cheese. She reported the
matter to the shopkeeper who forwarded her complaint to the concerned
company. Within a week the representative of the company visited Suman’s
residence with an apology and as a replacement offered her a new cheese pack
with four other varieties of cheese as compensation for the inconvenience to
her.

State the consumer right which Suman exercised.

4. 'O YOY 6] FEY ANG-NY hl LIH H 7 WWd T had 3fEd kA R wE, 1
foranatl ol THe i qAT SeYA] ol UT hid W € 27 3704 S & THdA o SR

Hisd

‘Is Management concerned only with doing the right task, completing activities

and achieving goals without taking into consideration the cost benefit 7 Give
reason in support of your answer.
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3T GISATHS B HT1 19 deC Sl THe9 U8 9gal i Fgel <dl § |

Name the type of organisational structure which promotes flexibility and
initiative.

AT AR B & 918 A g™l 0 o9 & Y T JEae-fafies sl
3TRY AT 9ARd 91 3I7eh1 o1 =meal of for el o faftre foeroaisti & @y
AIFEA-HIA &1 3cUTed 3IRY o | e gl 3 ug weqy foan fe
HeTEa-Hl i Y 9igd Seal TTAfed 8 &l § a1 39 a9 ¥ STafis
TRt goit o faf=im &t FR stewaehdr SR 31d: 3§ 319 o Wl WrteR
1 FaHE AXH H o T 71 fogan |

TRA St hl STEIhAIst] sl YHIfdd i oTcl B9 Tl ohl GBane fSreedh Rl

RS weramat 3 HieEd ®F ol ol § EteR STaq™ &1 g6 fhar|

Rizul Bhattacharya after leaving his job wanted to start a Private Limited
Company with his son. His son was keen that the company may start
manufacturing of Mobile-phones with some unique features. Rizul
Bhattacharya felt that the mobile phones are prone to quick obsolescence and
a heavy fixed capital investment would be required regularly in this business.
Therefore he convinced his son to start a furniture business.

Identify the factor affecting fixed capital requirements which made Rizul
Bhattacharya to choose furniture business over mobile phones.

faer=Tgator’ &1 o1 i |

Give the meaning of ‘Decentralisation’.

HATHE HRAART H ‘2Ireft T’ St e T Seeid hiTeT |

State the role of ‘Gang Boss’ in functional foremanship.

FREISH & Hew T Y e ard fe=dl d fagsil =01 wwemse
Explain any three points that highlight the importance of planning.
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10. IR G&T0T AU, 1986 % YEHMI o STIHR T ‘v’ ¥ &= sifyyry - 3
€2

What is meant by a ‘consumer’ as per the provisions of Consumer Protection
Act, 1986 ?

11. 4 A Ao TeauEsist & @ § IR fastelt o 3y i &1 a9 3
R W@ T G H ogd & STE=Iy o 3R e U e 8 W &1 SHA T
¢ TEwd, fEA Aft-a1ft oot T T I *T §, ¥ SHR R g o o
el |

mgshed 3 9 foh Sgm O 9t g & ol oF & 1R s9h faar & el |
A TH& Afafiem 3T a1 &1 ST9R HH=NE] &1 Jraar | fagemy 7= o1 396
RO HHAR GA Tl A |

(37) T Tl < WEIwOT STesii sl U= Sifeg fSiToh SR IO TeaamEstst’
3TN Al I YT Tl T U7 @ i |

() IWE (3F) IR H 989 T GE o1 % YhR i Teh AR o 1 Seoid
hifSTT |

Mr. Fernandes is the owner of Unibie Enterprises, carrying on the business
of manufacturing electrical appliances. There is a lot of discontentment in the
organisation and targets are not being met. He asked his son, Michel, who
has recently completed his MBA, to find out the reason.

Michel found that all decision making of the enterprise were in the hands of
his father. Moreover, his father did not have confidence in the competency of
the employees. Thus the employees were not happy.

(a) Identify any two communication barriers because of which ‘Unibie
Enterprise’ was not able to achieve its target.

(b) State one more barrier each of the types identified in part (a) above.
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‘HAeHh T=wEsy faffes’ & Hgasyeres-31qd, faquH steael-famm aen

e U Joreeh-iql 3wt Sieq o1 foig foran |

A % & RGN Jorged 3 A GEIEA Jaeh-afl ] Jarn IR 399
3Ty TR ff 98 diTed Bled | Ygdl @ielt 9ai &l X1 o1 3 o fean &
! T HHR T F¥a1 €, 5 o 9gd € Avg wa favewy €, afe uersmd
T 3 I H A S A1 98 qeft e wr H S| G RGN e
s9% fou weud & T FUR T gy 7 foy Rewed ' @ goud fwan f5=<iA
‘Ordeh T=URsS fafaes’ o fau fauom 1sme1 & 98 &1 faqma faar 3
FHH] & U Tk ITY gl w9t H "R gUI A o+ K ug @l
wETeE § IUcTed STUTRdd e oht St 93 shteh Wi feam

(31) ST R 9= &l 9 o A ' HHceh T=euEsis faffee’ g’ 9o wdl
& STITeh/aTRl Fidi o T4 SR |
(§) 3T Y9 U 9l & Ycdsh EId o Teh-Ueh oY ol Seci@ Ml iU |

Atul-The Assistant Manager, Vikas-The Marketing Head and Leena-The
Human Resource Manager of ‘Montac Enterprises Ltd.” decided to leave the

company.

The Chief Executive officer of the company called the Human Resource
Manager, Leena and requested her to fill up the vacancies before leaving the
organisation. Leena suggested that her subordinate Miss Rama Wadhwa is
very competent and trust worthy, if she could be moved up in the hierarchy,
she would do the needful. The Chief Executive Officer agreed for the same.
Miss Rama Wadhwa contacted ‘Smith Recruiters’ who advertised for the post
of marketing head for ‘Montac Enterprises Ltd’. They were able to recruit a
suitable candidate for the company. Atul’s vacancy was filled up by screening
the database of unsolicited applications lying in the office.

(a) Name the internal/external sources of recruitment used by ‘Montac
Enterprises Ltd’. to fill up the above stated vacancies.

(b) Also state any one merit of each of the above identified source of
recruitment.
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13. 41 foohe 80 ' SME.A.TH. %' & IEA 91 9w =1 a1 AfSid w @ a3
SR 9gd G 9 Fifeh doh FafHd &7 9 9 HT PTAE B W@ ATl 3Ah
3191 o1 IIR-Tod o Fafha €9 9 9¢ W1 o911 % ‘&, o5’ F AR w1
Y SO K o Tl foed 9 A 9 fh 39 Son 9 SR ST, o &+
A F1 I TG 9k 61 Th g6l B & 1d 3% dF & W Tl &
TSR & o1 3= 3T Teh &1 7T qohg I o 3R 3§ 394 o& o
3 4 wUe faf=ifaa & & faw &, @9 & 39 YSa a9 &1 ot aE |

STRIEY S0 o U¥Td 3190 &1 qod 50% ¢ T AR Tehe o ST & 9K
T 319 T 6 S & T Hohe i T 2 HUS 1 @19 3T 3T 1 S T
foema B2 w1 T fou 8k 1 e ¥+ @ v faw wwd gfayfa @ fafmem

N ¢

are (9+f) wHfow sarell 4 ygds e fafthd e & 9 39 Atafyadr 1
GAM R T et 7 foR 7ey W 9 S S |

ST =9t 9 Ufeadl &l 3qYd Hd ¢ Het gri fwAied fhgl <1 @t
TR, Tel 3R] Seei@ hifST |

Mr. Vikas Mehra was the Chairman of IBM Bank’. The Bank was earning
good profits. Shareholders were happy as the bank was paying regular
dividends. The market price of their shares‘'was also steadily rising. The bank
was about to announce the taking over of ‘UK Bank’. Mr. Vikas Mehra knew
that the share price of IBM Bank’ would rise on this announcement. Being a
part of the Bank, he was not allowed to buy shares of the bank. He called one
of his rich friends Mukand and asked him to invest ¥ 4 crores in shares of his

bank promising him the capital gains.

As expected after the announcement, the share prices went up by 50% and
the market price of Mukand’s shares was now ¥ 6 crores. Mukand earned a
profit of ¥ 2 crores. He gave X 1 crore to Vikas Mehra and kept T 1 crore with
him. On regular inspection and by conducting enquiries of the brokers
involved, Securities and Exchange Board of India (SEBI) was able to detect
this irregularity. SEBI imposed a heavy penalty on Vikas Mehra.

Quoting the lines from the above para identify and state any two functions
performed by SEBI in the above case.
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JaY bl IRMIT ST 9t 39 foivaret & T9emey S 39 U gHiss
foum & &9 # wenfuq et S

Define Management. Explain the features that establish it as a social science.

‘T Y. TR fafiee’ TaieRu- WEEiE & §9 & A @ gl FEEd ']
el W 9 W Jd AU UEehl kil TR <7 fau fafss Tl <6t amn
1 HEH T Aifd & FATER IH A1 g1 STES gRI AT HIAT AT STfch ]
M TR R A &t off | THH T had Af¥E FHT @ar o1 AfYg wfl-
ol I 1 Afge TS&bl ®1 3Thel ol IR S A0 AseR B ISl o |
Yok GRATY TEY, ST S I8l i I = foT 39 ghr 9
1 TR R UM & ST ITY STUTRIT o | HPTH] o H&A HIABRI STTUHRT Tl THoh
IR H AT FAT| I I AT Rl G, 39 o W IHk W1 = ki q”qn HEIH!
w1 9 HAifd sea 1 g8 fofg famn = fo afos ¥ 9ar gfed 9t e
T AT BT SR AR & FHF 1 GGIAN A8 ! &1 S aTell F&Jd i ==t
H &0 | THR GRS JUE Ul IR A0 F T =T A Y a1 g1 Fuferd

[a¥iaN

e 9 HE wET gRY H fean|

eSS AR gR1 TIH Ja9 o k1 & dd i faRIvars s Seo@
SHIfSTT |

‘A.S. Environs Ltd.” is dealing in Environment-Consultancy. To get the
business, the team leader and his team used to travel to different states to give
presentation to their clients. As per the policy of the company, the team leader
used to travel by air whereas his team travelled by road/train. It was not only
time consuming but also at times forced the female team members to travel
alone.
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As a result, the subordinates were not acting in a desired manner to achieve
organisational goals. The CEO of the company came to know about it. He
called the team leader, discussed the matter with him and decided to change
the travel policy of the company. It was decided that in future all the members
including the leader would travel together and usefully utilise the travelling
time in discussion about the presentation to be given to the clients. This made
a positive impact and every member of the team started acting in a manner
as desired by the team leader.

State the features of the element of the function of management used by the

CEO.

T HTA S| S et 7R 61 fauue R @l o S g9t Ture ofR ueent
S YSH I S dTett fasha W= Heredl o Rl 9gd g off | ¥l aeR
o T ST wFAT off SR STfe ey SAfSid T WH ot | STAT® Y o R
T+ Tosha-SuU= Genstl T M <A 9 hY {11 $Heh GiLATO] W&y Ureehi
& WY FEA F TEY T 8 T AT SHal- bl A5 § HHAT ohi B9 T 8
TS| IAUM AR & Y TAHH Y e W 3o Joed 39k an ¥ faf<a
geT | Taveryu W 9% gdl =ell for sHeh1 SRor fashaaa=a 9ansti &l &aH § =&
TEAT A1 37d: HFHT A ST bl TS § AT ST{hal Bfd hl GHd A &
YR GUR H o foaw 9efi Hv9 3um foh |

(31) YU ofvia feafd § forqureshsi gR0 K0T i Bfd Sl ERA & Tt 99
YU o YA 1 A Fdd §C IHHT Ieei@ hITT |

(&) WFT (31) ® TgaM T YA & fyen ot g9
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A company was marketing ‘Juicers’ which were very popular due to their
quality and after-sale-services provided to the customers. The company was
a leading company in the market and earning huge profits. Because of huge
profits the company ignored the after sales, services. As a result its relations
with the customers got spoiled and the image of the company in the public was
damaged. Top management became concerned when the profits for the current
quarter fell steeply. On analysis it was revealed that ignoring the after sales
services was its reason. Therefore the company took all possible measures to
protect and promote its favourable image. As a result the goodwill of the
company improved in the society.

(@) Name and state the communication tool used by the marketer in the
above case to improve its image.

(b) Also explain role of the tool as identified in Part (a).

AT ! SUHRT-3TTGdl H IR o 91 Hieter 4, il foh Tk He=al &t g =el
@1 oI, Y HHE hl Flehele & HH™ H qal o | fearefl o Taay w39
3fed I W Afhcle o kNS Uchsl TR T | 3T SATHek HIT H STIAM
T SR AR TR YT i & [ Alhicia.shid 1 &l Teh Jodse
TIE | Y AR sgd A el IR Gihele #1 okt gR1 3T 3Tty oy
SISKIRERIN

IR feafd o af€¥a saeafeas waeer & A= 6l 989y U9 THETEY |

With change in the consumption habits of people, Neelesh, who was running
a sweets shop shifted to chocolate business. On the eve of Diwali he offered
chocolates in attractive packages at reasonable prices. He anticipated huge
demand and created a website chocolove.com for taking orders online. He got
lot of orders online and earned huge profit by selling chocolates.

Identify and explain the dimensions of business environment discussed in the
above case.

10

QB365 - Question Bank Software




QB365 - Question Bank Software

18. ‘W &R fafhee’ A uftaw s & tw o &9 ¥ el w1 & 9gd 9 TIE 4
Uy 9, YT T8 wR i 1t Thadt Tnfua e @ fo ferm 39 e
& A 3 ‘O &R fafaes’ & 39 9™ w1 W R s 9 g off i
feren o gt ofter & That, oToudma, ek gefe Siet giaemd off Sucrsy &
S aqifer & et B TR % Y B 1w & Gid SThivd @ |
‘A R fafgee’ 7 srcafus oy afsid e IRy = fean) Tew-gEdl gfqar
FHEAT F 37O S Jeags L eRfas’ &1 ‘O ®R faids’ g A few S
® ITATYS: T & HRON 1 Id1 o & [T e |
sfa< 3w fo M1 & FfTEl § Geas Sevdl @i uif| o faw fafiys
foranetl & o= =rafted 99=g §1 Yos HHaR! il 98 71k ¢ % @A fogs gfa
ST Td SaeeE ¢ 1 had T a1 & fh 37k §ed § FHu0 §ME- §a@e
& Y 9 & A T, Sk AW R fafiee’ WHue H SAEavIRdaR gt
feemeti # yanfed 89 w1 AN YSH Fd ¢, FT99 gl w1 vy yaE e ©
AR JTR o T W< 2 S S
(37) 934 & IH YHR hl UgdI-C ol ‘AR R fagee’ ¥ Ty & g4
feemsti § yarfed 3 &1 STA UM St ¢ |

() SYUS 9T (27) § T8I T ST oh YR & Th oy 1 Al Seor@
HifSTT |

(¥) TH < gl &1 Ieai@ it S ‘7718 R fafhes’ gt o efia o
IR

‘My Car Ltd.” decided to set-up its new car manufacturing factory in the

backward area of West Bengal where very less job opportunities were available.
People of that area welcomed this effort of ‘My Car Ltd.” The company also
decided to provide facilities like school, hospital, market etc. in the factory
premises so that the people are attracted to join the factory as workers.

‘My Car Litd.” started earning huge profit. Another competeting company asked
its production manager ‘Arvind’ to investigate the reasons of earning huge
profits by ‘My Car Ltd.

66/3 11 P.T.O.
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Arvind found that in both the companies there was systematic
co-ordination among the various activities to achieve organisational goals.
Every employee knew who was responsible and accountable to whom. The only
difference was that in his organisation communication took place only through
the scalar chain, where as ‘My Car Ltd.” was allowing flow of communication
in all the directions as per the requirement which lead to faster spread of
information as well as quick feed-back.

(a) Identify the type of organisation which permits the flow of communication
in all the directions in ‘My Car Ltd.".

(b) Also state an advantage of the type of organisation identified in part (a)
above.

() State any two values which ‘My Car Ltd.” wants to communicate to the
society.

Tiafer oSk H AT gSi i w1 fR=l =) fafaEl s Seda Hifsw |

State any four methods of floatation of new issues in the primary market.

Tdileh AITST 1 Ueh TgUsed Hhd+l H hERd & | fUse &1w! il 9 39 @R a1l
9 3TH T K W9 I G, a1 Gd gol B S8 -wofen g1 suet feafa agd
ek off oTq: Y AFATA § ol TRl T SISl ¥ SHeH! T 9¢M i JAlg
| 3Th T et 7 IHk AR o o TS w sHh! T foarad ge < |
St o, et 7 A & HWed & g4t =i @ ydie’ & A w@-sH s
1 AT X g Teh fafEd = <1 e G Yoy ol 29 foawg § qdr =l
W I FHIAT GRER & AR R0 TN AH-TH o & i THE Hl AR
feam |

(31) ST TT=C § 3T HLd U SIS Td SIS T & Frf-2q
gl ol SATA hIfSIT |

(9) ST FHw0 #1 fogl q faemarsi &1 Iecrg Hifee |

(|) SWiea gfifeafa & o &1 gafya fe oM o f6=dl 1 gl -+ veam
RIS |
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Prateek is working in a multi-national company in Noida. He was running

temperature for the last many days. When his blood was tested, he was found

positive for malaria. He was admitted in the hospital and a blood transfusion

was advised by the doctors as his condition was very serious. One of his

colleagues sent a text message to his superior ‘Mr. B. Chatterjee’.

Mr. B. Chatterjee, immediately sent a text message to the employees of the

organisation requesting them to donate blood for Prateek. When the General

Manager came to know about it he ordered for fumigation in the company

premises and for cleaning the surroundings.

(@) From the above para quote lines that indicate formal and informal
communication.

(b) State any two features of informal communication.

(c) Identify any two values that are being communicated to the society in
the above case.

21. < 99 g4 W% A @ YrEnfint § felt o w3 $% 9Hd a% o€ 91 5
forepe oM aTell sheat | e foham | 9% 3§ Rl H W T8l o1 9U1 39 U8
frufa foan for o8 9 w8 fope oM aell 63 i Tk IcUTeH ThTE T him |
s fou SE 3Rvg wd @& Ui foru 3R % i &+ &1 wE-IeEn
S |
IHHT Th 329 JUH o H fafifsia ufn ®s50% oy A e an a2 fof
fon o fo s=n A S 2Te, =i, THe SIE S HEH i SUR W B
ST | 39 g oft i foran foh 1ot gl o wem 9 3l & faque & fog
[oft SAavI® SO H1 U@ hal ST I IARA-Ja-4h o &9 | &Y ol
e foran, forem Scarea-foraneti o foare & fawifa ol o1 ot fofa feam)
Y A o R e § wHuIREl H SAEvIHdl Hl g el fga off TR
fRar| oM amel JATEE! & fau 7d® 9 g9 & ur fafe 3aRl & s
A& & 9N § gfed fedan SR g ST 38 W HE Hd qHE g,
T T T A T894 W T 150 Ffafed & JAM HT =oon off H T
SUK ST=9e | Uikl sl IgYd Hd g 38H afvfd fafus Asieti & gahr 1
TEEM ST T4 T% THEE |
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Two years ago Mayank obtained degree in food technology. For some time he
worked in a company manufacturing Bread and Biscuits. He was not happy
in the company and decided to have his own Bread and Biscuits manufacturing
unit. For this he decided the objectives and the targets and formulated action
plan to achieve the same.

One of his objective was to earn 50% profit on the amount invested in the first
year. It was decided that raw materials like flour, sugar, salt etc. will be
purchased on two months credit. He also decided to follow the steps required
for marketing the products through his own outlets. He appointed Harsh as a
Production-Manager who decided the exact manner in which the production
activities are to carried out. Harsh also prepared a statement showing the
requirement of workers in the factory throughout the year. Mayank informed
Harsh about his sales target for different products, areawise for the forth
coming quarter. While working on the production table a penalty of ¥ 150 per
day was announced for not wearing the helmet, gloves and apron by the
workers.

Quoting lines from the above para identify and explain the different types of
plans discussed.

Joe o TTA Ug =0 &l 8 9y 6l 3eeid Hifg |

State the relationship between planning and controlling functions of
management.

IEEl 7 WA 99R & §hM § TR hl Te diad Glal | 9ad W S T8
oA T2 TE oft | SHR1 TN Flh o AR B S| UK HXE Afufrem
& F<d 394 T wE § U aifeent s i 3R 39 Ued fHa TE |

(31) IWe fearfd § 39 Aewequl ggq] ol 8=y fSueht foqumerl g staser
F TS 2

() I (31) H T89H T 98] & HMAl 1 GQ9 § quH DT |
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Vasvi purchased a bottle of pickle from the local grocery shop. The information
provided on the bottle was not clear. She fell sick on consuming it. She filed
a case in the District forum under Consumer Protection Act and got the relief.

(a) Identify the important aspect neglected by the marketer in the above
case.

(b) Explain briefly the functions of the aspect identified in (a) above.

*9 fafiee T Sauera Mt e g1 S9! 319 gSft 2 60 @@ T fusa
g9 3! Yfq 319 3 % 0.50 of | fafasfieeor & fau ww &1 T 40 @@
TR gSi 1 STEvahdl T §Hh T HEAT 7 10% Ror9s it e foa
Tenad foram1 =re] o ¥ fafrenfsia st W ket 4 % 8 ora oy sifSia foram
T 40% T X F AT ad fora

(37) oo hifse for fafadientor @ Aol 1 9fd 279 89 W &y 21eqan
B g2 | STUT UM 1 TR €Y H ST

(&) T € TTF Yol g % Uh UM & Y § HEE] R B & FHET % e
H frdl I &Rl &1 oot ot HIfST

Kay Ltd. is a company manufacturing textiles. It has a share capital of
% 60 lakhs. In the previous year its earning per share was I 0.50. For
diversification, the company requires additional capital of ¥ 40 lakhs. The
company raised funds by issuing 10% Debentures for the same. During the
year the company earned profit of ¥ 8 lakhs on capital employed. It paid
tax @ 40%.

(a) State whether the shareholders gained or lost, in respect of earning per
share on diversification. Show your calculations clearly.

(b) Also, state any three factors that favour the issue of debentures by the
company as part of its capital structure.

g9 o fag=Il & e W I S dia fhzl ar fagsii o I9emee |

Explain any four points which highlight the importance of principles of
management.
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MARKING SCHEME - 2015-16
BUSINESS STUDIES
OUTSIDE DELHI - 66/3
EXPECTED ANSWERS / VALUE POINTS

DISTRIBUTION OF MARKS

Q. Name and state the aspect of financial management that enables to
foresee the fund requirements both in terms of ‘the quantum’ and ‘the
timings’.

Ans. Financial planning.

The process of estimating the fund requirements of a business and specifying
the sources of funds is called financial planning.

OR
Financial planning is the preparation of a financial blueprint of an
organisation’s future operations.

% mark

+

% mark

1 mark

Q. Name the function of marketing which is concerned with the cost and
location of target market.

Ans. Transportation.

1 mark

Q. Suman bought a box of cheese of a reputed brand from a local
shopkeeper. On opening the box she found a piece of stone in the cheese.
She reported the matter to the shopkeeper who forwarded her complaint
to the concerned company. Within a week the representative of the
company visited Suman’s residence with an apology and as a replacement
offered her a new cheese pack with four other varieties of cheese as
compensation for the inconvenience to her.

State the consumer right which Suman exercised.

Ans. Right to safety which states that the consumer has a right to be protected
against goods and services which are hazardous to life and those which do not
conform to the safety norms.

OR
Right to seek redressal which states that a consumer has a right to get relief
such as replacement of product, removal of defect in the product,
compensation for any loss or injury suffered by the consumer in case the
product or service falls short of his expectations.

1 mark

Q. ‘Is Management concerned only with doing the right task, completing
activities and achieving goals without taking into consideration the cost
benefit?’ Give reason in support of your answer.

Ans. No, management is not only concerned with doing the right task,
completing activities and achieving goals but also has to take into
consideration the cost benefit i.e. doing the task correctly and with minimum

% mark

+

% mark

30
QB365 - Question Bank Software




QB365 - Question Bank Software

cost.

1 mark

Q. Name the type of organizational structure which promotes flexibility
and initiative.

Ans. Divisional structure.

1 mark

Q. Rizul Bhattacharya after leaving his job wanted to start a Private
Limited Company with his son. His son was keen that the company may
start manufacturing of Mobile- phones with some unique features. Rizul
Bhattacharya felt that the mobile phones are prone to quick obsolescence
and a heavy fixed capital investment would be required regularly in this
business. Therefore he convinced his son to start a furniture business.
Identify the factor affecting fixed capital requirements which made Rizul
Bhattacharya to choose furniture business over mobile phones.

Ans. Technology upgradation.

1 mark

. Give the meaning of ‘Decentralisation.’
g

Ans. Decentralisation refers to systematic delegation of authority through all
the levels of management and in all the departments except that which can be
exercised only at central points.

(or any other correct meaning)

1 mark

Q. State the role of ‘Gang Boss’ in functional foremanship.

Ans. The role of ‘Gang Boss’ as a foreman in functional foremanship is to
keep machines and tools ready for operation by workers.

1 mark

Q. Explain any three points that highlight the importance of planning.

Ans. Importance of planning: (Any three points with explanation)

(1) Provides directions.

(i1) Reduces the risk of uncertainty.

(ii1) Facilitates decision making.

(iv) Reduces overlapping and wasteful activities.
(v) Promotes innovative ideas.

(vi) Establishes standards for controlling.

(If an examinee has not given the headings as above but have given the
correct explanations, full credit should be given)

%% mark for the
heading
+
1 mark for
explanation

10

Q. What is meant by a ‘consumer’ as per the provisions of Consumer
Protection Act, 1986?

Ans. Under the Consumer Protection Act, a consumer means:
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(a) Any person who buys any goods for a consideration, which has been paid
or promised, or partly paid and partly promised, or under any scheme of
deferred payment. It includes any user of such goods, when such use is made
with the approval of the buyer, but does not include a person who obtains
goods for re-sale or any commercial purpose.

(b) Any person who hires or avails of any service, for a consideration which
has been paid or promised, or partly paid and partly promised, or under any
system of deferred payment. It includes any beneficiary of services when such
services are availed of with the approval of the person concerned, but does not
include a person who avails of such services for any commercial purpose.

(If the examinee has not given the meaning of ‘consumer’ as per
Consumer Protection Act, 1986 but has correctly combined both the parts
(a) and (b), only 1’2 marks to be awarded)

1 % marks

+

1 % marks

3 marks

11

Q. Mr. Fernandes is the owner of Unibie Enterprises, carrying on the
business of manufacturing electrical appliances. There is a lot of
discontentment in the organization and targets are not being met. He
asked his son, Michel, who has recently completed his MBA, to find out
the reason.

Michel found that all decision making of the enterprise were in the hands
of his father. Moreover, his father did not have confidence in the
competency of the employees. Thus the employees were not happy.

(a) Identify any two communication barriers because of which ‘Unibie
Enterprise’ was not able to achieve its target.

(b) State one more barrier each of the types identified in part (a) above.

Ans. (a) Two communication barriers are:
(1) Organisational barrier/ Organisational policy
(i1) Personal barrier/ Lack of confidence of superior on his subordinates.

(b) Organisational barrier: (Any one)

(1) Rigid Rules and regulations may delay communication.

(i) Status of the superior may not allow his subordinates to express their
feelings freely.

(ii1) Complexity in organization structure leads to delayed and distorted
communication.

(iv) Lack of organizational facilities like frequent meetings, suggestion box
etc. may discourage free flow of communication.

(If an examinee has given only the heading, /2 mark for each heading
should be awarded)

Personal barrier: (Any one)

(1) Fear of challenge to authority may make the superior withhold
communication.

(i1) Unwillingness to communicate on the part of the subordinates may arise if
they perceive that the communication may adversely affect their interests.

(ii1) Lack of proper incentives may hinder the initiative of the subordinates to
communicate.

Bx2

1 mark

1 mark

1 mark
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(If an examinee has given only the heading, /2 mark for each heading
should be awarded)

1+1+1

3 marks

12

Q. Atul -The Assistant Manager, Vikas- The Marketing Head and Leena-
The Human Resource Manager of ‘Montac Enterprises Ltd.’ decided to
leave the company.

The Chief Executive officer of the company called the Human Resource
Manager, Leena and requested her to fill up the vacancies before leaving
the organisation. Leena suggested that her subordinate Miss Rama
Wadhwa is very competent and trust worthy, if she could be moved up in
the hierarchy, she would do the needful. The Chief Executive Officer
agreed for the same. Miss Rama Wadhwa contacted ’Smith Recruiters’
who advertised for the post of marketing head for ‘Montac Enterprises
Ltd.” They were able to recruit a suitable candidate for the company.
Atul’s vacancy was filled up by screening the database of unsolicited
applications lying in the office.

(a) Name the internal/ external sources of recruitment used by ‘Montac
Enterprises Ltd.’ to fill up the above stated vacancies.

(b) Also state any one merit of each of the above identified source of
recruitment.

Ans. (a) Sources of recruitment used to fill up the vacancies are:

(i) Promotion
(i1) Placement Agencies and Management Consultants
(ii1) Casual Callers

(b) Merit of each of the above identified source of recruitment:

Promotion: (Any one)

(1) It helps to improve motivation, loyalty and satisfaction level of employees.
(i1) It has a great psychological impact over the employees because a
promotion at a higher level may lead to a chain of promotions at lower levels
in the organisation.

(ii1) It is a more reliable way of recruitment since the candidates are known to
the organisation.

(iv) It is a cheaper source of recruitment.

Placement Agencies and Management Consultants: (Any one)

(1) They recommend suitable names to their clients.

(i1) It helps in enticing the needed top executives from other companies by
making the right offers.

Casual Callers: (Any one)
(1) It reduces the cost of recruiting workforce in comparison to other sources.
(i1) It saves time.

%x3

1 % marks

% x3
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(If an examinee has given only the heading, /4 mark for each heading
should be awarded)

1 % marks

1%+1%

3 marks

13

Q. Mr. Vikas Mehra was the Chairman of ‘IBM Bank.’ The Bank was
earning good profits. Shareholders were happy as the bank was paying
regular dividends. The market price of their shares was also steadily
rising. The bank was about to announce the taking over of ‘UK Bank.’
Mr. Vikas Mehra knew that the share price of ¢ IBM Bank’ would rise on
this announcement. Being a part of the Bank, he was not allowed to buy
shares of the bank. He called one of his rich friends Mukand and asked
him to invest I4 crores in shares of his bank promising him the capital
gains.

As expected after the announcement, the share price went up by 50% and
the market price of Mukand’s shares was now 6 crores. Mukand earned
a profit of 32 crores. He gave X1 crore to Vikas Mehra and kept Z1 crore
with him. On regular inspection and by conducting enquiries of the
brokers involved, Securities and Exchange Board of India (SEBI) was able
to detect this irregularity. SEBI imposed a heavy penalty on Vikas Mehra.
Quoting the lines from the above para identify and state any two functions
performed by SEBI in the above case.

Ans. Functions that were performed by SEBI in the above case were:

(1) Regulatory function

‘On regular inspection and by conducting enquiries of the brokers involved,
Securities and Exchange Board of India (SEBI) was able to detect this

irregularity.’

SEBI can call for information by undertaking inspection, conducting enquiries
and audits of stock exchanges and intermediaries.

(i1) Protective function
‘The SEBI imposed a heavy penalty on Vikas Mehra.’

SEBI controls insider trading and imposes penalties for such practices.

%2 mark for identifying
each function
+
%2 mark for quoting
the line
+
% mark for each
statement

1%x2
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(If an examinee has given only the headings, 2 mark for each heading

should be awarded) 3 marks
14 | Q. Define the Management. Explain the features that establish it as a
social science.
Ans. Management is the process of getting things done with the aim of
achieving goals effectively and efficiently.
1 mark for
(Or any other correct meaning) the
meaning
The features that establish management as a social science are: +

(1) Principles based on observation and experimentation

Like science, management principles are derived through observation and
repeated experimentation.

However since management deals with human beings the outcome of these
experiments are not capable of being accurately predicted.

(i1) Universal validity.

Principles of management like principles of pure science provide managers
with certain standardised techniques that can be used in different situations.
Since they have to be modified according to a given situation, their application
and use is not universal.

So, this feature of science is not fully present in management.

Therefore, management is considered a social science.

% mark for each
heading
+
1 mark for its
explanation

1%x2

3 marks

1+3

4 marks

15

Q. ‘A.S. Environs Ltd.’ is dealing in Environment- Consultancy. To get
the business, the team leader and his team used to travel to different states
to give presentation to their clients. As per the policy of the company, the
team leader used to travel by air whereas his team travelled by road/train.
It was not only time consuming but also at times forced the female team
members to travel alone.

As a result, the subordinates were not acting in a desired manner to
achieve organizational goals. The CEO of the company came to know
about it. He called the team leader, discussed the matter with him and
decided to change the travel policy of the company. It was decided that in
future all the members including the leader would travel together and
usefully utilize the travelling time in discussion about the presentation to
be given to the clients. This made a positive impact and every member of
the team started acting in a manner as desired by the team leader.

State the features of the element of the function of management used by
the CEO.

Ans. Features of motivation:

(a) It is an internal feeling as the urges, drives or needs of human beings which
influence human behaviour are internal.

(b) It produces goal directed behaviour as it stimulates people to accomplish
desired goals.
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(c) It can be positive in the form of positive rewards or negative like
punishment, stopping increments etc.

(d) It is a complex process as any type of motivation may not have a uniform
effect on all the members.

(If an examinee has given only the headings, 2 mark for each heading
should be awarded)

4 marks

16

Q. A company was marketing ‘Juicers’ which were very popular due to
their quality and after sale services provided to the customers. The
company was a leading company in the market and earning huge profits.
Because of huge profits the company ignored the after sales services. As a
result its relations with the customers got spoiled and the image of the
company in the public was damaged. Top management became concerned
when the profits for the current quarter fell steeply. On analysis, it was
revealed that ignoring the after sales services was its reason. Therefore the
company took all possible measures to protect and promote its favourable
image. As a result the goodwill of the company improved in the society.
(a) Name and state the communication tool used by the marketer in the
above case to improve its image.

(b) Also explain role of the tool as identified in Part (a).

Ans. (a) Public Relations.
Public Relations refer to a variety of programmes to promote and protect a
company’s image or its products in the eyes of the public.

(or any other correct meaning)

(b) Role of Public Relations: (any three points with explanation)
(1) Press Relations.

(i1) Product Publicity.

(ii1) Corporate Communication.

(iv) Lobbying.

(v) Counselling.

(vi) Smooth functioning of business.

(vi) Image building.

(vii) Launching new products.

(viii) Facing adverse publicity.

(ix) Supplementing advertising.

(x) Satisfying interest of different public groups.
(xi) Building awareness

(xii) Building credibility.

(xiii) Stimulating sales force.

(xiv) Lowering promotion costs.

(If an examinee has not given the headings but has given the correct
explanation, full credit should be given)

%2 mark for naming the
tool
+
2 mark for stating

atVa

1 mark

+

¥, mark for heading
+
¥ mark for its
explanation

1x3

3 marks

4 marks

17

Q. With change in the consumption habits of people, Neelesh, who was
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running a sweet shop shifted to chocolate business. On the eve of Diwali he
offered chocolates in attractive packages at reasonable prices. He
anticipated huge demand and created a website chocolove.com for taking
orders online. He got lot of orders online and earned huge profit by selling
chocolates. Identify and explain the dimensions of business environment
discussed in the above case.

Ans. (i) Social Environment
Social Environment includes social forces like custom and traditions, values,
social trends and society’s expectation from business.

(i1) Technological environment

Technological Environment of business includes forces relating to scientific
improvements and innovations which provide new ways of producing goods
and services and new methods and techniques of operating a business.

1 mark for
identification of each
dimension

+

1 mark for its
explanation

2+2

4 marks

18

Q. ‘My Car Ltd.’ decided to set up its new car manufacturing factory in
the backward area of West Bengal where very less job opportunities were
available. People of that area welcomed this effort of ‘My Car Ltd.” The
company also decided to provide facilities like school, hospital, market
etc.in the factory premises so that the people are attracted to join the
factory as workers.

‘My Car Ltd.’ started earning huge profit. Another competing company
asked its production manager Arvind to investigate the reasons of earning
huge profits by ‘My Car Ltd’.

Arvind found that in both the companies there was systematic
coordination among the various activities to achieve organisational goals.
Every employee knew who was responsible and accountable to whom. The
only difference was in his organisation communication took place only
through the scalar chain where as ‘My Car Ltd.’ was allowing flow of
communication in all the directions as per the requirement which led to
faster spread of information as well as feed-back.

(a) Identify the type of organization which permits the flow of
communication in all the directions in ‘My Car Ltd’.

(b) Also state an advantage of the type of organization identified in part
(a) above.

(c) State any two values which ‘My Car Ltd.” wants to communicate to the
society.

Ans. (a) Informal organisation.

(b) Advantage of informal organisation: (Any one)
(1) It fulfills social needs.
(i1) It compensates for inadequacies in the formal organisation.

(If an examinee has given only the headings, 2 mark for each heading
should be awarded)

(c) Values which ‘My Car Ltd.” wanted to communicate to the society are:

1 mark

+
1 mark for advantage

+

1 mark for each value

1x2
=2 marks
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(Any two)

(1) Development of backward regions.

(i1) Creating employment opportunities.

(ii1) Providing basic amenities to employees.
(iv) Fulfilling social responsibility.

( Or any other correct value)

1+1+2

4 marks

19

Q. State any four methods of floatation of new issues in the primary
market.

Ans. Methods of floatation in the primary market: (Any four points)

(1) Offer through Prospectus is a method of floating new issues by inviting
subscriptions from the public through issue of prospectus.

(i1) Offer for Sale is a method in which the securities are not issued directly to
the public but through intermediaries like issuing houses or stock brokers.

(ii1) Private Placement refers to the allotment of securities by a company to
institutional investors and some selected individuals.

(iv) Rights Issue is the privilege given to existing shareholders to subscribe to
new issue of shares in proportion to the number of shares they already hold.
(v) E-IPO refers to issuing securities through the online system of stock
exchange.

4 marks

20

Q. Prateek is working in a multi national company in Noida. He was
running temperature for the last many days. When his blood was tested,
he was found positive for malaria. He was admitted in the hospital and a
blood transfusion was advised by the doctors as his condition was very
serious. One of his colleagues sent a text message to his superior ‘Mr. B.
Chatterjee’. Mr. B. Chatterjee immediately sent a text message to the
employees of the organization requesting them to donate blood for
Prateek. When the General Manager came to know about it he ordered
for fumigation in the company premises and for cleaning the
surroundings.

(a) From the above para quote lines that indicate formal and informal
communication

(b) State any two features of informal communication

(c) Identify any two values that are being communicated to the society in
the above case.

Ans. (a) Formal communication

‘When the General Manager came to know about it, he ordered for fumigation
in the company premises and for cleaning the surroundings.

Informal communication
‘One of his colleagues sent a text message to his superior ‘Mr. B.Chatterjee’.

OR

%, mark for indicating
type
of
communication
+
%2 mark for quoting
the lines

1x2
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‘Mr. B. Chatterjee immediately sent a text message to the employees of the
organization requesting them to donate blood for Prateek.’

(b) Features of Informal communication: (Any two)

(1) It takes place without following the formal lines of communication.
(i1) It arises out of social needs of the employees
(ii1) It spreads rapidly.

(or any other correct feature)

(c) Values being communicated to the society are: (Any two)
(i) Concern for the environment

(i1) Cleanliness and hygiene

(ii1) Concern for safety of human beings

(iv) Sensitivity towards health

(v) Fulfilling social responsibility.

2 marks

+

¥ x2

1 mark

1x2

2 marks

2+1+2

5 marks

21

Q. Two years ago Mayank obtained degree in food technology. For some
time he worked in a company manufacturing Bread and Biscuits. He was
not happy in the company and decided to have his own Bread and Biscuits
manufacturing unit. For this he decided the objectives and targets and
formulated action plan to achieve the same. One of his objective was to
earn 50% profit on the amount invested in the first year. It was decided
that raw materials like flour, sugar, salt etc. will be purchased on two
months credit. He also decided to follow the steps required for marketing
the products through his own outlets. He appointed Harsh as a Production
Manager who decided the exact manner in which the production activities
are to be carried out. Harsh also prepared a statement showing the
requirement of workers in the factory throughout the year. Mayank
informed Harsh about his sales target for different products, areawise for
the forth coming quarter. While working on the production table a
penalty of Rs 150 per day was announced for not wearing the helmet ,
gloves and apron by the workers.

Quoting lines from the above para identify and explain the different types
of plans discussed.

Ans. The different types of plans are:
(1) Objective

‘One of his objective was to earn 50% profit on the amount invested in the first
year’.

An objective is the end which the management seeks to achieve within a given
time period.
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(ii) Policy

‘It was decided that raw materials like flour, sugar, salt etc. will be purchased
on two month credit’.

Policy is a general guideline which brings uniformity in decision making for
achievement of predetermined objectives.

(ii1) Procedure

‘He also decided to follow the steps required for marketing the products
through his own outlets.’

OR

‘He appointed Harsh as a Production Manager who decided the exact manner
in which the production activities are to be carried out.’

It consists of sequence of routine steps on how to carry out activities. It details
the exact manner in which any work is to be performed.

(iv) Budget
‘Harsh also prepared a statement showing the requirement of workers in the

factory throughout the year. *
OR

‘Mayank informed Harsh about his sales target for different products,
areawise for the forth coming quarter.’

A budget is plan which states expected results of a given future period in
numerical terms. It may be expressed in time, money or physical units.

(V) Rule

‘While working on the production table a penalty of X150 per day was
announced for not wearing the helmet, gloves and apron by the workers.’

A rule is a statement that specifies what is to be done or not to be done.

%2 mark for identifying
the type of plan and
quoting it
+
¥ mark for its
explanation

1x5

5 marks

5 marks

22

Q. State the relationship between planning and controlling functions of
management.

Ans. Relationship between planning and controlling: (With explanation)

(1) Controlling takes place on the basis of standards developed by planning
because if the standards are not set in advance, managers have nothing to
control.

(i1) Planning without controlling is meaningless because
once a plan becomes operational, controlling ensures that events conform to
the plans.

5 marks
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(ii1) Planning is prescriptive whereas controlling is evaluative because
planning prescribes an appropriate course of action while controlling evaluates
whether decisions have been translated into desired actions.

(iv) Planning and controlling both are forward looking because while plans are
prepared for the future, controlling seeks to improve the future on the basis of
the past experience.

(v) Planning and controlling are both looking back because,
while planning is guided by past experiences,
Controlling compares the actual performance with the standards set in the past.

(In case the candidate has not given the relationship in the form of points
but has explained all the points in his answer, full credit be given)

23 | Q. Vasvi purchased a bottle of pickle from the local grocery shop. The
information provided on the bottle was not clear. She fell sick on 1 mark
consuming it. She filed a case in the District Forum under Consumer +
Protection Act and got the relief. %2 mark for heading
(a) Identify the important aspect neglected by the marketer in the above +
case. %2 mark for
(b) Explain briefly the functions of the aspect identified in (a) above. explanation
\ =
Ans. (a) Labelling. 1x5
(b) Functions of labelling: (any five points with explanation) 5 marks
(1) Describes the product and specifies its contents. =
(i1) Identifies the product or brand. 1+5
(ii1) Helps in grading of products. =
(iv) Helps in promotion of products. 6 marks
(v) Provides information required by law.
(If an examinee has not given the headings as above but has given the
correct explanation, full credit should be given)

24 | Kay Ltd. is a company manufacturing textiles. It has a share capital of

%60 lakhs. In the previous year its earning per share was 30.50 . For
diversification, the company requires additional capital of 340 lakhs. The
company raised funds by issuing 10% Debentures for the same. During
the year the company earned a profit of I8 lakhs on capital employed. It
paid tax @40%.

(a) State whether the shareholders gained or lost, in respect of earning per
share on diversification. Show your calculations clearly

(b) Also, state any three factors that favour the issue of debentures by the
company as part of its capital structure.

Ans. (a) Earning per share before diversification: 30.50

Calculation of Earning per share after issue of Debentures: (assuming face
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value of 3100 per share)
Particulars 3
Share capital 60,00,000
10% debentures 40,00,000
Total 1,00,00,000
Profit before interest and tax 8,00,000
Less Interest 4,00,000
Profit before tax 4,00,000
Less tax@ 40% 1,60,000
Profit available to shareholders 2,40,000
Earning per share
=2,40,000/60,000 =34
This clearly shows that the shareholders have gained after the issue of
debentures since the Earning per share has increased from 0.50 to 4.
OR
Calculation of Earning per share after issue of Debentures: (assuming face
value of 310 per share)
Particulars 4
Share capital 60,00,000
10% debentures 40,00,000
Total 1,00,00,000
Profit before interest and tax 8,00,000
Less Interest 4,00,000
Profit before tax 4,00,000
Less tax@ 40% 1,60,000
Profit available to shareholders 2,40,000
Earning per share
=2,40,000/6,00,000 =30.40

This clearly shows that the shareholders have lost after the issue of debentures

since the Earning per share has decreased from %0.50 to %0.40.

[Note: In case, a student has calculated Return on Investment as 8%
(8,00,000/%1,00,00,000) and compared it with the rate of interest which is 10%
and concluded that the sharecholders have lost after the issue of Debentures
since the interest rate is greater than the Return of Investment, 1 mark is to be

awarded]

[In case the examinee has assumed any other face value and has shown
correct calculations and given the correct conclusion, full credit be given]

(b) Factors that favour issue of debentures by the company: (Any three)

2 marks for calculating
Profit available to
shareholders
(32,40,000)

1 mark for correct
calculation of Earning
per share and
conclusion

2+1

3 marks
for any of the given
correct calculations
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(1) A good cash flow position makes debt funding more viable.

(i1) High Interest Coverage ratio lowers the risk of company failing to meet its
interest payment obligations

(ii1) High debt service coverage ratio indicates better ability to meet the debt
service obligations.

(iv) If Return on Investment of the company is higher than the interest rate on
debt, its ability to use debt is greater.

(v) Lower the cost of debt higher is the ability to employ debt.

(vi) High tax rate makes debt relatively cheaper.

(vii) If the stock market conditions are bearish, a company may be able to
easily raise funds through debt.

(viii) If the company does not want dilution of control, it will favour debt as a
source of finance.

(ix) Inclusion of debt in the capital structure makes the capital structure
flexible.

(x) If the business risk is lower, its capacity to use debt is higher.

(x1) Raising funds through debt involves low floatation costs.

(If an examinee has given only the heading, /4 mark for each heading
should be awarded)

6 marks

25

Q. Explain any four points which highlight the importance of principles of
management.

Ans. Importance of principles of management (Any four points with
explanation)

(1) Provide the mangers with useful insights into reality.

(i1) Help in optimum utilisation of resources and effective administration.

(ii1) Help in taking scientific decisions.

(iv) Help in meeting changing environment requirements.

(v) Help in fulfilling social responsibility.

(vi) Used as a basis for management training, education and research.

(if an examinee has not given the headings as above but has given the
correct explanation, full credit be given)

¥, mark for heading
+
1 mark for explan-
ation

1% x4

6 marks
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